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21. AMUUALA abc WAT cba IUATUIUNUAINUAN AN a, b WAL c LU
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26. Find the value of 36 + 9 + 17 x 9 — 29 x 9 + 3 x 90.
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27. Let X be a whole number. If the lowest common multiple of 6, 21 and

X is 252. Find the minimum value of X.

28. What is the area of a circle that is inscribed in a square of area 49 square

unit? (Let T = %)
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29. E is the smallest possible equivalent fraction of % Find the value

of a + b.

o)
Q
G
Q -
=3
Q
=]

30. What is the smallest number of cubes that must be added to make the

given figure a cuboid? (Let a cuboid is like the 3D version of a rectangle)

|
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1. AAU 19 ALUUY

wuaAn  anland FnesnalanInNITanLIKNAAaNWIN 3 a1 Ndaudaniuii
2 B
LAY Flafiansannszantnundns iy 4 uhy axildoudeisim
3 ALY
waANdn  Anusudauideuiuiuastieandnduaunszanuwndneg 1
adld  nsTANLNUNAATIMIY 20 Wit Asdidauideusiui
20 = 1 = 19 FANLULS
Fofl  wisnanssanLuN AR dauidewiuiusesnsraniavue

19 AL

2. pay 1,255 W
wuadn anland eenmumneduil wan 21.35 w f«):ﬁﬁuwajqﬁ 1981 18.30 W.
uanein  LnaE a1n 21.35 1. e 24.00 w18 2 dat 25 W
WAz TunanTungsid a1n 00.00 . T 18.30 u. 14 18t 30 il
saunaivEa 20 92lue 55 wnil Anidlu 1,255 wni

o a6 ¥ a :I/ &l a
AT WA AN TN12mUNI9ATIY 1,255 11N
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a+b+c+d+e+f=28LIURNAT

UM X > X > X > X > . >X —>X —>Y
1 2 3 10 1

AINANAL

a+a+b+b+c+c+d+d+e+e+f+f

=2x@+b+c+d+e+f

=2 x 28

= b6

AN X > X > X > X > . >X —>X —>Y
1 2 3 10 1

AINATAL €119 56 WIUFLNAT

6. AU 4 LEIURALNAS

WUIRA  AINgRT

ayle

(V)

X A PRI 1 Y '
wummgﬂmmaﬂumqmﬂ = E X mmﬂmmmu@wm X @\‘1
760 = % X (4x + 4 + 5x) x 20
760 = 90x + 40
90x + 40 = 760
90x = 760 - 40
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Tupe  ANNETHRY 13 x 2,000 = 26,000 LN

ANNNLARNEY 11 x 2,000 = 22,000 LN
LAY 26,000 + 22,000 = 48,000

Aa1iU RNINTLA NN RN 48,000 LN

(@)
D
c
c
(@]
(=
(@)
N
Q)
c

13. AAL 66
WA annland Susuiugesmdnisiaalnnsnaiufivnsdns 8 adsn
FT0N  AMIUTLABMANTIMNIAYE 8 a5
Usznavumag 16, 24, 32, 40, 48, 56, 64, 72, 80, 88 kAL 96
thanunudnedunndenduuidiaalansneiis
azldl 16, 24, 32, 40, 48, 56, 64, 72, 80 LAY 96
LN 16+8=224+8=3,32+8=4,40+8

5 48 + 8 = 6,

5%6+8=7,64+8=872+8=980+8

10, 96 + 8

12

PNANITHIUINAURINNA 2 + 3+ 4 +5+6+7+8+9+ 10 + 12 = 66

A1 NALIINUANNANNTVIOVNA WML 66

14. maU 5,796
uuaAn  anlaned dnaalam 0, 1, 3 WAz 5 NNAFNTRAIUIUTLANNNAD
adle 103, 105, 130, 135, 150, 153
301, 305, 310, 315, 350, 351
501, 503, 510, 513, 530, 531
AN AN TN AL
103 + 105 + 130 + 135 + 150 + 153 + 301 + 305 + 310 + 315

+ 360 + 351 + 501 + 503 + 510 + 513 + 530 + 531 = 5,796

v
A1 NATINADIANUIULLATNVANTNUNA WAL 5,796
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19. mau 18.49 WIAWN"
= " dl £ 1
wuaAn  anland Ainganiguine) Uszmawtha watazdndingamnamiuag
szmnalneg 1 FaTug 15 W

gauziinngenigunnm Wwiean 12.34 wiwnn

1
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wanednngamnEnueg Wunan 13.49 wiwng
anland NaAEU UszmAtnTuaus 1a1azFINIINEmMNNIUAS
Uszmalne 5 dalug

UUAR Nnadeiu Wunan 18.49 wrinn

et anuziifnafaduluingn 18.49 wIRAN

20. maU 70 LNAS
wwadn A nfand 0NN LAUENLTINLTAN T R ANENT 50 WAs Tuaan

8 7
FsolauiuauENuI LT A E e a3 54 Alawns
satalu

WA §m315q 54 AlawnsFTe Wiy
fm31159 (54 x 1,000) + 3,600 = 15 WATAUN

waaddn  solauauiiuanlsrasng 15 x 8 = 120 wms

FANTUAULNUT IR MR ANTuALlE T EEN19IINT09ANNEN

TIUTNATMAZANNENITBITLUID I

ale ANHNEINURITLILID N = 120 - 50 = 70 WAT

fati o auquiiiAf N 70 WAT
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27. maU 36

wuaAm  antangd X 1w whole number A8 AUAUANUINUAT AU

A.9.3. UBY 6, 21 LAY X WNNY 252 §
o z
azld 252 =2 x2x3x3x7 S,
o
6=2x3 2

21=3x7

X=2x2x3x%x3

At ATieaignaee X wiaiu 36

28. MAU 38.5 M5191AU98
= Ce dil dl dl dl dl o a al dil/ dl
wuaAn  antangd Aunvesglaanannuuuludmasnania sUAmasNanTalnug
49 FNFINUUIE
d’l dl dl dl o o v v
NNGAT  NUNLRIUAVRENARTE = AU x AU
LAY 49 =7 x 7

nI/ A dl dl o = ¥ 1
ULAR gﬂm‘mw ATANANHENINIUNS 7 UL

L
N

wam9dn  giasnaniduruAuinatseng 7 g §ARenq 3.5 wilae

azle NuNNNaN = 2—72 x 35 x 3.5

=385

=De

POt 9NANTNUR 385 M13I9ULNe
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